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No. of Questions /vt &t weat : 120
Pime/T0T ; 2 [fours /972 Full Marksf‘{?’l‘h? : 360
{ote : \1)  Auemptas many questions as you can. Each question carries 3 marks.

One mark will be deducted for each incorrect answer, Zero mark will be
awarded for each unattempted question.

HUFNE TH H B T H TS F) TAF TH 3 sF F O
mwm%m@mmmzmmwm
YHF I B

(2] If more than onc alternative answers seem to be approximate to the
correct answer, choose the closest one.

T e R O B SN,
I 2

1. The accounting concept where business is treated as a separate entity from its
proprietor it is
(1} going concern concept (2) dual aspect concept

(3) business entity concept {4} realisation concept

8 1 (P.T.O.)
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3 SRETEA FGUTON el saew 39H @ 8 o e @ 8, T8
(1) 970 Way FEUm e (2) ta sngfa swEam 2

(3) SHEEE AfEaE a3 (4) e TR ©

2. Which one of the following i1s a deferred revenue expenditure?
(1) Intcrest on capital (2} Preliminary expenses
(3) Repair of fixed assets (4) Cost ol stores
Frafefaas § 8 %9 UF eufi| o =g 27
(1) Y5t W =a (2) W a e
(3) i iyt #i 9o (4) 9vErY F T

3. Causes of depreciation is/are

(1} effect of time [2) permanent fall in price

{3) obsolescence (4) All of the above

(1) G99 1 Y9 (2) g 4 wurft fivee

(3) FaTE (4) ITF e

4. An asset was acquired on 1st January, 2016, On 1st January, 2018 its writie:
down value after charging depreciation @ 10% p.a. on diminishing balance is R
8,100. The onginal cost of the asset was

(1} Rs 10,000 2) Rs 11,000 (3} Rs 9,000 (4} Rs 12,000

118) 2
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L sFall, 2016 ® wh awl afepda g 1 S, 2018 ® @ srE g
10v gft i g T ¥ T Wl WY W 8,100 o 3 #RR w1 A qeu o

1) 10,000 %o (2) 11,000 80 (3} 9,000 %o (4) 12,000 %o

A proprietor withdrew goods worth Rs 8,000 from the business for personal use.
The adjustment entry would be

(1} Drawings A/c Dr To Purchases A/c
(2] Purchases A/c Dr To Drawings A/c
(3} Drawings Afc Dr Tu Sales Afc

(4} None of the above

v @ 3 SaEW 8 S|hETE T B 8,000 %o fif wnnft fan womem uRf
Fauil

(1] FRW @l sfe 3 %9 @ (2) % @ e 3 e W
(3) smerw @ gfw 3 faww @ (4) 90 | & ¥ A8

X.Y and Z are partners sharing profits in the ratio of 8:5: 3. X retired. Y takes

‘ 5 .
:E: share from X and Z takes 16 share from X. The gaining ratio is

5 3
1) 1:1 2} —:—or 5:3
(1) {116 16
13 ‘3.;&5.1;3;5 {4}L:iurl:3
16 16 16 16

3 (P.T.0.)
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(18]

X,y o z @ndl 1 8:5:3 & IHUA B aied B WEEW ¥ X A WEEW U7
EruanafﬁX%ﬁ%%ﬂﬂamzﬁxm;%@ﬁﬁﬁmwwﬁhwﬁ

5 3
1) 1:1 2) - HIdl 5
(1) e 16 .
35 , 13
(@) =2 S 3:5 (@) - : 2l sjeEr 103
1616 1616

A company offers to its shareholders the right to buy one share of Rs 12 each for
every four shares of Rs 10 held. The market value of share is Rs 30 each. The
value of the rights share is

(1) Rs 22 (2} Rs 360 (3) Rs 2640 (4} Rs 10

TE O o STl R OS 10 Fo F AN W W E, Um sim fvwm wes (o

%o 2 wlied w1 afEn il &1 Uid A F AN T 30 Fo i s wwm A
ool
1) 22 %o (2} 360 %o (3) 26-40 %o (4) 10 %o

Premium on redemption of debentures account until redeemed is shown ir
(1} current labilitics (2} current provisions

(3) provision for liabihties (4) long-term provisions

Fogs # wivR 91 fifran @ Jeas wiftE ad g, 99 9% Om =mim s 2

(1) =] 2 | (2) T WEUE H
(3) Tifea gq WawH (4) A gTaeE A
4
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Which information is not significant 1n profit prior to incorporation and after
incorporation as well as in the preparation of Balance Sheet?

1) Goodwill (2) Purchases {3) Cash Balance (4} Debtors

T F qd W v e wen ot fag s § AR-d gE vt o
27

(1) =l (2) s (3) Uhg =Tl (4) TR

According to Companies Act, 2013 the format of P/L. A/c is included in

(1) Annexure III {Part I]) (2} Annexure I (Part II)
(3} Annexure V (Part I) (4) Annexure III (Part I
Frot fUfEm, 2013 & AW TAY-TN @R W 9EY Wi 2
(1) s mi (o) § (2) SR 1 (s 11) &
(3) FEA V (M 1) H (4) IS 1D (WeT 1) H

[ndian Ilire Purchase Act was promulgated in the year

ard from wn wfufem a2 o oad 2
(1) 1971 (2) 1972 (3) 1974 (4} 1975

What is/are the rights and responsibilities of a hire-buyer under hire purchase
agreement?

{1} To obtain any information regarding account
(2} To settle early the full outstanding amount
{3) To terminate the agreement at any time

(4) All of the above
S (P.T.0.)
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frrn 5 T % el o Rem-a & an afen w afe A R
(1) @@ & wrafad F1§ G TH Fl

(2) sF TR A weer P @

(3) @ge=a i Tt w T o

(4) IRIE &t

13. Section 22 of the Hire Purchase Act, 19772 is concerned with
(1) owner is entitled to terminate the agreement
(2} owner can reahse the outstanding with nterest

(3} owner can repossess the asset

(4} owner is not liable for the upkeep of the asset
frr w1 afufiam, 1972 & uw@ 22 ek @

(1) WA <l T9gtar gaE FH H AMFR 2

(2} miferw s W SIS % @Y TS FOHEA 2

(3) ATt QAT YT Al 2

(4) mieeh woafer #1 %y gt w1 e F8 ¢

14. The nature of Branch Accounts is
(1} real (2} nominal

(3) personal (4} real and nominal both

(18) 6
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M HTEr &) T 2
(1) Ir=tamw (2) T
(3) ST (4) TR vE sEwatE P

15. Which type ol branch maintains complete system of accounting?
(11 Pependent Branch (2} Domestic Branch

(3] Independent Branch [(4) Inland Branch

fpe w1 e gl goed Tt 27
(1) SEE W (2) e I (3) Flm s (4) s wmE

16, Wholesale price method is under

(1) Dependent Branch (2) Independent Branch
(3] Foreign Branch (4) Head Office Branch
gr¥ TaFe unelt o arata R, ag 2

(1) e sma (2) Fofim s

(3} el smen (4} BT FHEI G

17. Revenue items in Foreign Branches should be converted at the
(1) current rate (2) closing rate (3} opening rate (4) average rate
faeeit yranett & Uewa we @get St @
MR aEw 2 AfRmaEw 3 WEEm A wm (¢ S mwm

18| 7 (P.T.0.)
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ol

18. During the year 2017, Varanasi Branch Account showed a net profif
Rs 6,000. The Head Office shall pass the Journal Entry

(1) P/L A/c Dr to Varanasi Branch Afc

{(2) Varanasi Branch A/c Dr to Capital Afc
(3) Varanasi Branch A/c Dr to P/L A/c
(4) No Entry

gf 2017 § IRVE T @R 3 6,000 Fo F G WM AN JUA FATET o
A Fm

(1) F-g1 @rdr el 3 FmoE wmE @
(2) SRl s gfae 2 gSt @

(3) g ImEr gfee g em-gH g

(4) ®% sl T

19. Departmental Accounts are prepared separately to know the

(1) establishment expenses of each department

(2) sales of each department
(3) profit/loss of each department

(4) efficiency of each department

fomfta @ sem dan R IR € 9 % o
(1) T faum & T =59 (2) weg fqum £ fh
(3) uw favm H T/ (4) 7% fawm A e

{18} 8
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20. The basis for allocation of ‘Salary to General Manager’ is

21.

22,

18}

(1} number of workers

[2) time devoted by General Manager
(3) profit of the organization

{4} should not be apportioned

‘DRIYSFF F A6 F AR F w2

(1) i 6 g (2) wevET g fon

(3) ANZT F N (4) dzam F& forwr s g

When there is inter-departmental transfer of goods, the provision for unrealised
profit 1s shown in

(1) Trading and P/L A/c (2) General P/L A/c

(3] Balance Sheet {4) Statement of Affairs Afc

wa faami 8§ awgett w ol waron W 2, @ TEge @M g SwEsE vt
S

(1) T T -2 ER (2) oW w-zfy @y §
(3) enfds fg o (4) vare foor @@ §

The gross profit of departments A and B are Rs 2,12,500 and Rs 2,10,000
respectively while stock reserve is Rs 10,700. The consolidated gross profit is

{1} Rs 4,11,800 {2) Rs 4,22,500
(3} Rs 4,33,200 (4} None of the above

g (P.T.0.)
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M A @91 B ¥ O% oY 2,12,500 To @dl 2,10,000 Fo FUI: E, A WE
g 10,700 %o 2| AfEfEd TFa @ 2

(1) 4,11,800 %o (2) 4,22,500 %o

(3) 4,33,200 %o @) I 8 4 a8 W

23. In ‘Statement of Affairs asset side’ as per which list the dehoency s shown?
(1} List H (2) List D (3) List G (4) List F

ffr o % @l 1 o R B A R aw 27
(1) g9 H (2) gt D (3) g G (4) gt F

24. In the books of lessee, royalties based on output should be debited 1o
(1} Trading or P/L A/c (2} Manufacturing or Production A/c
(3) Lessor or Landlord Afc (4) Expenses or Payment A/c
wEn % @i #, 399 auifE aften vew gfae Ben smm
(1) AUR HYST AY-B4 @ 3 (2) F=i 3vEr 3| @ o

(3) UETEET Ul I @ H (4) @ AFA YA =R A

25, Minimum Rent 1s not known as

(1) Fixed Rent (2} Flat Rent (3} Time Rent (4} Dead Rent
em T w3 S s 2

(1) = e (2) "ue R (3) Twa T (4) o T

(18) 10
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The right of recoupment of shortworkings cannot be

(1) restricted (2} unrestricted
{3) carrying forward indefinitely (4) contractual
TIFE F g #A F AR T3 @ mEa 2

(1) i (2) swfifim

(3) ¥hfra smafy a% & s (4) st

When the market is rising and prices are continuously going up, the preferred
pricing of inventories is

(1) FIFO (2) LIFO (3) Average Cost (4) Market Price
9 ST TG QR T Yo HE qg @ €, @ W H AR A 2
(1) Frer (2) =t (3) ofrad @ra (4) T9E g

For each product profit and loss could be revealed by

(1) Financial Accounting (2) Management Accounting
{3} Cost Accounting {(4) Both (1) and (3)

T IAIG hi T UG FH H G aFA @

(1) fervira o (2) weFr SrEiE

(3) e i (4) (1) © (3) Al

Which one of the following is not a factory overhead?
(1} Indirect wages (2) Leave wages

(3} Overtime prernium [4) Productive wages

11 (P.T.O.)
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30#

31.

(18)

frerifeg & @ B u wR@E ITEEg T 27
(1) aryege wigh (2) S WA
(3) offtrama Hiftm (4) e weRh

Suppose : Selling price—Rs 50,000; Profit—20% of cost; Cost—Rs 100. Then the
total profit would be

(1) Rs 10,000 (2} Rs 8,333-:33 (3} Rs 8,750 (4) Rs 8,000
oM ;. REE geE—50,000 %o; @M—20% @@ #l; dME—100 Fo, df Fd M
B

(1) 10,000 %o (2) 8,333:33 % (3} 8,750 %o (4) 8,000 %o

Encashment of earned leave is fully taxable, 1f encashed
(1) after retirement

(2) after death

i3} during the period of employment or after retirement

(4) during the period of service

Afefa e F THRdEOT IR FEE A TR

(1) #nfEgle & w2

(2) T F T 2

(3) TSR & ZRW a1 HETHg % 99 ¢
(4) T % I B

12
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33.

34.

39.
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Interest credited in Recognised Provident Fund is exempted up to

Wﬁmwﬁmﬁfﬁﬁmmw%

(1) 8% (2) 9% (3) 9:5% (4} 10%

Which one of the following allowances is exempted under Indian Income-tax
Act?

(1} Dearness Allowance (2) City Compensatory Allowance
(3) Foreign Allowance (4} Medical Allowance

YRAM ME AT & i HH-T1 WA S 27

(1) wiTrd v (2) T e e

3) fem s (4) fafeen s

For computation of tax, agricultural income is added in the total income of

1) Individual (2) Firm (3) Company (4) Local Authority
H H E T RR FN o A FA om & wfe fen s 2
(1) wh =af (2) wd (3) et (4) wrfy wm

On the basis of residence, assessees are divided in

(1} Indian and foreigners

(2) resident and non-resident Indians

(3} ordinary resident, not ordinary resident and non-resident

(4) persons, firms and companies

13 (P.T.O}
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36.

37.

38.

(18)

framg-tyF F AUR W FEEsl F:i ated 8
(1) wdtg ud foeeh

(2) Tramdt @ fu-Fawh e

(3) mreme e, s Fardt v st
(4) =afew, wH o FEET

Income-tax Act was passed in which year?

qaFT HAfufEw fmg ad wifg T @ any

(1) 1961 (2) 1971 (3) 1951 (4) 1981

An activity concerned with the planning, raising, controlling and administering
the funds used in profit seeking organizations is '

{1} Public Finance (2) Industrial Finance

{3} Business Finance (4) Institutional Finance

v nfefaRet st oo arch Gl A e w3 Bee, e e w
yome # g3 g 2, W FwEd @

(1) gt fm o (2) ot faw (o) Tofaw frm 4y deasa fg

Which one of the following is the classification of Business Finance?
(1) Public Finance and Private Finance
(2} Personal Finance, Public Finance and Partnership Finance

(3) Finances of Sole Trade Business, finances of Partnership Business and
Corporate Finance

(4) Both (2) and (3)
14
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EE R A S ———

(1) ==t fam o B fe
(2) =t fw, adsfs & au a@ed fm

(3) VTR IR fov, W srwmm @ B9 aw A e
(4) (2) vF (3) B

Which one of the following is the traditional approach of finance function?
{}) 11s an outsider-looking in-approach
(<] {t is an insider-looking ovut-approach

{3) 1t is a continuous administrative function
[4) None of the above

e % W ww-m fom s W TowE fammeg 27

(1) st =i grr o A3 g F fmwaw R
(2) srafE-Teeu-ame gedl 6 ERET B

(3) Frear womafs w4 2

(4) ITRE A § Hd T

Which one of the following characteristics is a modern concept of finance
function?

(1) The task of providing funds to an enterprise on terms that are more
favourable

(2) Finance function is of centralized nature

(3} The finance function is more descriptive

(4) More stress on judicious and effective use of funds

15 (P.T.0.)
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St Frovasil # & Sw-w fade w1 @ amyfrw femem 27
[Ljéwﬂﬁsm“mwmeﬁiafmmaww%

(2) fm Brw f oyl A 2

(3) fora e wifis aohAe 2

(4) HEF UE YT I W AR 9

41, The objective of a Public Company 1s
(1] management of liquidity
(2) maximization of profit
(3) maximization of shareholders wealth
(4} management of fixed assets
wh TEREE O F R R
(1) T &1 Jaed
(2) Afirqe it
(3) srmafel & wafd % qed A sfuekan 9fg
(4) Turft Tt w1 e

42. What is ignored in the principle of profit maximization?
{1} Time value of money (2) Risk
{3) Wealth creation (4} All of the above
{18) 16
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e it ¥ R § o S B T 27

(1) To1 1 o wwa (2) wifigs
(3) Fwfer awfq (4) ITE Wi

43. “A bird in hand is worth two in the bush” This presents the concept of
(1) present value of money (2) gross present value of money
(3] time value of money (4) All of the above
A g 7 dE un” g A w2
(1) Hgl % T09H gew ¥ arvmom w5y (2) BT & Whel Yed & HAGOT
(3) 931 % W YT F Eemon i (4) 3w aft

44. Financial Plan includes
(1} firm's financial objectives
(2) financial objectives and policies
(3} financial objectives, policies and procedures

(4) None of the above

fofrr e & ofafaa 2
(1) w4 % forfm wisy (2) faefim stex @ At
(3) fadfra we, i aur wiyfit (4) IRE | G FE T

18} 17 (P.T.0.)
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45. Factor(s) affecting the Financial Plan
(1} trading on equity policy
(2) capital gearing policy
{3) trading on equity and capital gearing policy
(4] None of the above
FF S fae At @ owatad e R
(1) WHAT T =R i
(2) st af<ee i
(3) o SR A s e i
(4} 3wiiw H 9 FIT el

46. Trading on cquity and capital gearing are
(1) for diversification of Financial Plan
(2) limitations of Financial Plan
(3} factors determining Financial Plan
{4} All of the above
FHAT W SR agl S g
() fadf e % fafafe & o @
(2) forefig fraem # dhand &
(3) Fedra e =i fuifa w0 T FE ©

(4) IR ot
(18} 18
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“‘Thi‘:h one of the following should be taken into Account while preparing a
Financial Plan?

(1) Anticipation of contingencies (2 Liquidity

(3] Combinations (4) Both (1) and (2)
Hoffgs 4 ¥ el 991 fan =0 R el @ wm 2 au?
(1) arifEaratt i gatEe (2) T

(3) wE (4) (1) @@ (2) g

Overcapitalization occurs when

\1) Actual rate of carning > Current rate of earning
(2} Real valuc of business < Book value of business
(3} Real value of business > Book value of business
(4) Actual rate of earning < Current rate of earning
(1) Irdiash 3 H P > 999K 9 Fil F

(2) SN F IEAAF [e9 < FUR F 7@ Yol

(3) AR 1 AEAF T > W F o€ T

(4) arfaF I i W < FAIR I F QT

When realizable value of the stock is less than its book value, it is
{1} capitalization (2} overcapitalization
{3} undercapitalization (4] watered capital

19 (P.T.0))
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Wm{ﬁﬁa@ﬁwmgmﬁﬁw%,ﬁwﬁﬁﬁ?
(1) iR (2) s (3) swEsw (4) i

50. Capital structure influences
(1) risk of the firm
(2) risk of the equity shareholders
(3) risk but not rcturn
4) Both {1} and (2)
gsfl WAy T R
(1) =a=EmE % Fifgw & (2) stwrnfe = <ifam =
(3) Sifga i @i wfowa & 4 (4) (1) wd (2) FHT

51. Which one of the following is not affected by capital structure?
{1} Total tax hability (2} Return on equity capital
(3] Operating profit (4) Earnings per share
frafafga § & a8 #t-ar € & O oo @ wnfam 78 27
(1) F& * A (2) srerdsht @ sy
(3) g o™ (4) %l 39 ama
52. Cost of capital has been defined as cut-off rate for capital expenditure by
(1} M. J. Gordon (2) Scloman Ezra

{3y J. J. Hampton (4} Milton H., Spencer
(18} 20
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324,

95.
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“ﬁﬂmmﬁéiﬁaﬁ%%ﬂ,uﬁqﬁw%

(1) Wo So MET & (2) T I W

(3) o Ho EFWER (4) fifFe o e 5y

[f debentures of Rs 1,00,000 carrying 12% interest are issued at a discount of

5% and the expenses on issue is Rs 1,000 and it is redeemable after 10 years,
What will be the cost of debenture?

a‘ﬁ’fz%mamm1,!30,050&%1%aﬂr:‘%@mﬁﬁfﬁaﬁmw%,
gy gr wd 1,000 %o N 3H FWrEd 10 a9 § 29 2| T3 1 oawE w=m
G

|]J 12% {2} 1.3% [3} 149, 4} 11%

10" Preference shares of Rs 100 issued at par value, issue expenses amounts
lw Rs 2. Cost of preference share capital after tax will be

10% YaTHER o9 100 %o Wed & OHYF W i 2| fier =m0 %o 7, @
TatfER A9 §ft ) ava g

(1] 102% (2) 10% (3) 20-4% (4] 20%

Which one of the following is not the advantage of stable dividend policy?
(1) Convenience in funds generation

(2) Preference by investors

(3) Stability in market price of shares

{4} Adjustment of loss

Frafafan & & -a1 Br amrw it #1 am a8 27

(1) fo wifm & gl (2) fafarsssr «ft =
(3} ¥ & NN oq § e (4) BH *1 FHESA

21 (P.T.Q.)
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56.

57.

58.

(18]

In which one of the following model of dividend policy, the pay-out ratio 1s ver
less or sometimes it 1s zero?

(['5 Normal Firms—Walter Model (2) Modigliani and Miller Model

(3} Declining Firms—Walter Model  (4) Growth Firms—Walter Model

mﬂﬁ%%mﬁﬁ%mwma@mmmﬁ—wﬁaﬁyﬁam

81
(1) =M ERU—aTet ASe (2) wrdfEEE T fer Atsa
(3) e HE A "o (4] Fremeie duand e wiEe

In Cash Flow; income tax paid is treated as
(1) operating activity (2) investing activity

(3} financing activity (4) not shown anywhere

e VAR §, SEE e @ AA S R

NEKEIGERERL (2) faffam G
(3) faeim e (4) F T e s

When equity sharcholders funds exceed the total of debentures and preference
share capital, the capital structure is referred to as

(1) high geared (2] low geared (3) even geared (4] None of these

S g sl ¥ owm weas o qEiieR s S % am A s @ 9w 3,
F i HET w2

(1) 3 aasa (2) B @=%d (3) TF TRFT (4) 7 ¥ FE T

22
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39.  For the purpose of calculating ROI, capital employed means

60.

18}

1) net fixed assets

i2) current assets - current liabilities

(3] fixed assets + current assets + current liabilities
(4} fixed asscts + current assets - current liabilities
HoHode (ROI) % ™A &g fFaifed §sft =1 apf 2
(1) Trg ol weatt

(2) =] grafgl — = g

3y vl et + T i 4+ 9T ade

14 sl gedfdl + arep weafma — = Tfds

Dividend cover 1s calculated as

(1) profit alter tax and interest/dividend
(2) net profitfdividend

(3] profit after tax/dividend

(4) profit after depreciation/dividend
FTTY A o & St 2

(1) S T ST % AT T ST

(2] FTg A/ AT

(3) T H TIEE A

(4} BT % TYET ETH /ST

23

(P.T.0.
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61. The primary objective of business IS
(1} maximum profit (2) maximum service
(3) profit first and service next (4) service first and profit next

=gaE 1 o 3T o

(1) iR (2} wfiwam T
(3} w4d @ Em g (4) 999 gan g am

62. Which one of the following 1s not the social objective of business?
(1) Optimum utilisation of resources
(2) Honest payment of State-taxes
(3) Community development
[4) Conducive working conditions

frfafgs § § FMH-T1 SHIEE™ 1 AEISE IKyd TE 27

(1) &me=i 1§ (2) F B A AN
(3) weraF fam (4) 3fud ®m i Fwm

63. Which one is correct in the following?
{1} Trade is a part of industry
(2) Commerce is a part of trade
(3) Commerce is a part of business

(4) Industry is a part of commerce

(18) 24
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MEffEd § 8 FH-m e e

(1) MR F&g F oam @ (2) a7 s 2
(3] O FEHE F AT R (4) T AT # o #
Combinations are

(1} not in the intercest of consumers

(2} 1n the interest of consumers

(3 hatmiful e consumers

(4} not n the interest of consumers and are harmful to them
L) IR w Ra | oAl 2

(2) 3ot & fem § 2

(3] Iwviet & oo mfEnE @

(4) I99R % R % T qu wfeErs @

The birth place of Trust is

(1] Germany (2) America (3} England (4) France
T S R
(1) s (2) i (3) Irie (4) HE

The existence of Holding Company 1s
(1} legal {2} woluntary
i3} on moral ground {4) on cooperative basis

25

(P.T.0.)
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Fom Fw F afeE g @

(1) Fenfaer (2) U

(3) Al R W (4) TR F HATUE 9T
67. The origin of Pools in America was

(1) in 1740 (2) in 1840 (3) in 1940 (4) in 1945

adi ® amiE | I g3 U

(1) 1740 (2) 1840 H (3} 1940 © (4] 1945

68. The birth place of Holding Company 1s

(1} India {(2) America

(3) Germany (4] None of the above
qu FE F A 8

(1) wra (2) FRFEH

(3) ST (4) STOW A B Awg A

69. Which one of the following is not the objective of vertical combination?
(1} Coordination among production process
(2) To remove middle-men
(3] Control over quality of production

(4} Establish equilibrium between demand and supply

(18) 26
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W@ﬁﬁﬁ-mmmﬁwﬂﬁﬁ?

(1) 371E fFaratt & wen wo=m @

(2) ATl & OHIH HEAD

(3) ITET % Fem g figa w5

(4] " HT g d wegem wenfig s

mij;b![ ene of the following 1s not the reason for slow combination movement in
India®

(1} Businessmen In India do not like to lose their ownership after making
combination

{2) In India, there is lack of competition in industrial field resulting into slow

progress of combination

{3) Combinations in India are not in the interest of the consumers. It is harmful
to consumers

4 Mone of the above

fefeiigs 4 3 F9-1 wrd § G99 Agled A At afy w s a8 20

(1) wda Jarmafe qarsE @ e # T WA s e o wen awes
gm:naﬁaﬂaﬁﬁmmﬁuﬁmﬂfﬂm%qﬁﬂmmﬁnﬁa@zﬁ:ﬁ
(3) wid #, TaeE IueEet & fea A T ¥ ol swded ¥ f el 2

i4) 390w A H wE TE

In line and staff organisation, staff is
|1} ordinary worker (2) officers

{3 cxperts (4] Both {1} and (2}
27 {P.T.0.}
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T2.

73.

74.

(18)

v vd wAa gus § wder §d ¥

(1) TEweT FEET (2) AT

(3) fortag (@) (1) @ (2) T

For large sized enterprises, the most suitable form of organisation is
(1} line organisation (2] functional organisation

(3) line and staff organisation (4) formal organisation

g3 A A JHA F fom Rl e o @ owew @

(1) @ g (2) frrmE g

(3) Ta st FHEE Hre (4) Hg=Tie w8

In which form of organisation the Foreman’ hecomes the Driver of his
subordinates instead of their leader ¢

(1} Line organisation (2) Functional orpanisation

{3) Committee organisation (4) None of the above

mwmﬂiw’w:ﬂﬁﬁﬁmﬁm‘ﬂmﬁaﬁmmm
ECle i i

(1) Yar g (2) frers gmaq

(3) TEfa Hr3a (4) I d § FiE

The definition of management given by Lawrence A. Appley indicates the
(1) effort of other people (2} cooperative group

(3) formally organised groups (4) Both (1) and (2}

28
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18)
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A Vo W G W@ WY F Ui 3 v 2

(1) R A % g (2) TEHH W W
(3) Sfweieh i HE @) (1) @ @) 3

[n advanced countries like USA, France, Germany, UK and Japan, the
development of management has been in the form of a

(1} profession (2) process

(3) group effort (4) None of the above

faekfim g1 @ onfem, wiw, wifl, $1dT a0 SR A, Yo w1 fGwm § g 2
(1) 79 & ¥ H (2) ufFn % =q

(3) TO[iR® WAE & Y (4) 9O ° | FY T

The founder of Scientific Management Concept is

(1) F. W. Taylor (2) George Elton Mayo

{3} Peter F. Druker (4] None of the above

IifrF verm & wEvwon w1 Fmfa R

(1) The Tacgo el (2) Sst UeeT AR

(3) HT whe FH (4) 9 o & HrE T
When was Scientific Management introduced?

ERUCEIELE IR T I e i

(1} 1832 (2} 1903 (3) 1913 (4) 1950

29 (P.T.O,
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78.

T9.

80.

(18}

Social responsibility of management is not towards whom?
(1) Themselves (2) Government

(3) Customers (4} Financial aspects

T umTes e e ufd 9df 20
(1) =3 (2) AT (3) TTEH (4) forfa veasi

Secondary function of management 1s not

(1} coordination and control (2) staffing and direction

(3) planning and organisation (4) All of the above

YarH TR FE AR 8

(1) T9=a e Frmo (2) w=fHT q9r A

(3) FRe qun g (4) 3wl ot

According to Graicunas theory, the increase in direct, cross and group
relationship between the superior and subordinate, it is in

(1} geometric term (2} harmonic term

(3) arithmetic term (4) None of the above

i % g F omum wow sl v osfuRel § dw S ovew, s s
aqe 4 gfg < 2, =2

(1) TR wrg # g @ (2) @HE wE § Ear 2
(3) HOR 9E § BT 2 (4) 37w ¥ 8 w1 7

30



81.

82.

83.
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Delegation is

(1} downward (2] upward (3) lateral (4) All of the above
T {Delegation) ghr 2
(1) srermmt (2) Fedmt (3) wrfsd=+ (4) 39UH wft

Which one of the following statements relating to decentralisation is true?
(1} Right to take decision is also delegated in decentralisation,

(2) Responsibility is not delegated in decentralisation,

(3] Decentralisation and delegation both are equal.

(4) Both (2) and {3)

Fefofad 3 8 Fft9-m1 F97 frimm wafim od 27

(1) Tebgimor # fiofg 89 = atfn W dfer s 2)

(2) S&iww 4 Imefie adi shm s 3

(3] =gt qur R @ T R

41 (2) @@ (3) T

“Staffing pertains to the recruitment, selection, devclopment and compensation
of Managers.” This statement is of

(1} Koontz and ODonnell (2) George Terry
(3) Theo Haimann (4} Patrick ‘E. Connor

R, el o owd], I 9, few W ol @ e @ 2w s
2
(1) 32 1@ 3fle AT # (2) st 28 @
(3) o & (4) U fo wrdm
31 (P.T.0.)
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84. For which purpose, planning is done in the organisation?

(1) Rigidness  (2) Liberalness  (3) Flexibility ~ (4) Effectivencss
fgtem "mea & Fem Rw & fag e s 27

(1) w3 & f (2) FaEn & R

(3) el % fore (@) waidl s s T

85. The Doctrine of Privity of Contract is concerned with
(1} Information Technology Act, 2000
(2} let the buyer beware
(3) consideration
(4] Sale of Goods Act, 1930
wer & afig @ fagr et @
(1) g e sifafdEs, 2000 (2) %d1 TEUR ®
(3) whdweT (4) w1 fopa et sfafEm, 1930

86. Unpaid Seller has a night to
(1) repay the price (2) lien

(3} repudiate the contract (4} None of the above

Hed faga % o dfuew g R
(1} HHd & A9EE F (2) SOOI
(3) af@ @ 1 H (4} I B F$ TE

(18) 32
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87. An agreement not enforceable by Law is said to be
(1} Void Contract (2) Illegal Agreement
(3] Void Agreement (4} Voidable Contract
9 TR A A ga swdda B 2, R w3

(1) Y9 "iag (2) RFF FW  (3) I =W (4) Y gfer

88. Which one of the following is not a feature of partnership?

(1) Unlimited liability (2) Direct motivation
{3 Mutual agency (4) Utmost good faith
Frafafaa 4 @ FR-m el = agr 5 22
(1) stfag sl (2) weaar Hfson
(3) grEgieh afR (4) v & favam
89. Where the consent of both the parties is given by mistake, the contract is
(1) woid (2) valid {3} voidable (4) illegal
et B g ) wEhr qw B oW R, @ v menfy 2
(1) (2) Tafmm (3} I (4) afafemm=
90. The meaning of the Doctrine of Caveat Emptor is
{1} let the seller beware (2] let the buyer beware
{3) let the creditor beware (4] let the producer beware
‘Hfawe vl g w1 e @
(1) faspan wmEum @ (2) T HEUH R
(3) FVRMI WEEA @ (4) IOEE FEAIH W@

18] 33 (P.T.0.)
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91.

92.

93.

(18)

Opposed to Public Policy means

(1) if the Court regard it as immoral
(2) inoperative in the eyes of Law

(3) subsequent impossible to perform

(4) if public makes it inoperative

A % fawg @ anom 2

(1) ¥R A 3 e o (2) fafe i 3f 8 atmed
(3) W@ ® T 9 smea (4) A ST I8 sEerEEE e

A contract to do or not to do something if some cvent collateral o such contrac
does or does not happen 1s called

(1) Contingent Contract (2) Voud Contract
(3) Quasi Contract (4} Voidable Contract

fted R e A A maRg A s obm et o ey o

(1) s e (2} o At (3) s tfe ) TG

An instrument in writing containing an unconditional order signed by the
maker is called _

(1} Cheque (2) Bill of Exchange
(3) 10U (4] Promissory Note
vE foafga g G fan o emew Foes g st =
(1) @ gl

(2) fafra o g 2
(3) ¥ el w1 (sMosfioqo) Faemar 2
(4) = 9T FEemal ©

34
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A person vahcr receives a negotiable instrument in good faith and for valuable
consideration is known as

(11 holder (2} holder for value
(3) holder in due course (4} holder in right

Erinii

R (2) JEAIH HIH
[3) THF ATFH G (4) ATRIF

Which one of the following is not a feature of a company?

i1} Mutual Agency (2) Common Seal

(3) Aruficial Person (4) Perpetual Succession
fefeiad o # FH-a1 w0 &1 @ T8 20

vy arEriEE s (2) AMF FEE

(3) W =l (4) IMYFd ITTEER

Non-transferability of share is a feature of

(1) Public Company (2} Private Company
(3} Partnership (4} Holding Company
3w F ITFETAiTE OF TH9 ¢
(1) BESAF FEHT F1 (2) F=ft Foft =/
(3) FEed # (4) gEadl = #
35 (P.T.O.)
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97. Actual money is related t0
(1) unit of currency and unit of amount
(2) commodity money and representative money
(3) legal tender money and optional money

(4} currency and deposits
qrfaE g F g

(1) wem R e au e A @R AR
(2) aw qg @ sfaffa 9o A 2

(3) faftmmer gz @ ¥feew g A R

(4) FE=A TuT T H 2

98, Convertible Paper Moncy

(1) can put check on inflation (2) can put check on recession
(3) is an emergency money (4) is a voluntary money
ofadeia & 9%

(1) TEreffy T OF M Ed (2) T | IF T AFA B

(3) T T2 @ (4) o 3w T

99. On which the Gresham’s Law is not applicable?
(1) Standard Money (2) Paper Money
(3) Fiat Money (41 All of the above
dym w1 Fav fFm @ w78 g 22

(1) 9o qgr o (2) T (3] WEE gz (4) T i
(18) 36
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100.  Which principle of Note Issue is also called security principle?

101,

102.

| 13]

(1) Banking principle (2) Gresham’s principle

13} Currency principle (4) None of these

Are fetw & form fagm =t qun = fagre oft == 30

i A R ) imfage @) e fagm (4 7 3 FE A

In comparison to Fishers approach, which one of the following statements 1s
uue for Cambridge approach?

i1} Long-term analysis
(2] Dependence on interest rate for cash balance
|3}y More importance of money supply

{4) More importance of demand for money
R % g B qe §, PefE FA E A Fow we R e &
fem wd 27

(1) dnfsier ferer™

(2) s B8 % faw smw @ T
(3) g1 i wfd @ Al e

[y g A F HuE T

According to Friedman's quantity theory of money, the elasticity of demand for
money in relation to the general price level is

{1y 1 (2) more than 1 (3} less than 1 (4) zero
Wﬁ%mﬁwﬁ@aﬁmgﬁﬁqﬁﬁm,mﬁmw%
Tray |

(1) 1 Bi@n 2 (2) 1 & st g 2

(3 1 8 *F A 2 (4) I3 B R
37 (P.T.0.)
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103,

104.

105.

118)

_ . . anki soulation
Since when, the Banking Compames Act, 1949 1s termed as Banking Reguiaty

Act, 1949 ?

(1) 1st March, 1956 (2) 1st March, 1960

(3) 1lst March, 1965 (4) 1st March, 1966

frr & dfen sl sfufem, 1949 = e Fem sfefiEe, 1940 #@ s
27

(1) 1 9, 1956 9 (2) 1 7€, 1960 ¥

(3) 1 @, 1965 ¥ (4) 1 W, 1966 H

Under which Section of Banking Regulation Act of the RBI, a company can driws
Licence for Banking Busincss?

(1] Section 22(1) (2] Seetion S(RY

(3] Section 23(3) (4) Section 11(1]

T FOE, SfEn ohaa R % fou, fod dw % A Rawd efofem ¥ fmoam
% agq AIH-TA TH FAl 7

(1) 8/ 22(1) (2) | 5(B) (3) 9 23(3] (4) = 11

Of ali the assets of a bank, the most profitable asset is
(1} investments (2} lbans and advances

(3] call money (4] discounting of bills
di Hl Fo sfwmfE § & 99 anErs TEe @

(1) fafatm (2) FT T HUT  (3) A=A A (a) Tt €1 F2f
38
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106. The ubjective of IFC is pot to
[1} encourage private enterprise
(2] courdinate capital with management
(3} encourage foreign trade

4} encourage consortium finance

swrigte fam e w3 @ o2

(1} Fft 3em &1 stere o (2) ISt Ut worg & whtww Fw
13) TogEh 4o = e g (4) FO HE H WEREA

107. .. M. Keynes has classified money as
(1} actual moncy and money of account
{2} umt of currency and unit of account
(3} legal tender money and optional money

(¢} metallic money and paper money
Ho Wo H 7 g1 A Ffiga frw 2
(1) Srafas g1 i feome & g (2) oo FI e T Temwm i e
8) fafmma g1 i ufee® qa (4) =1 51 R wwA qoy
108. Which one of the following is not a characteristics of bimetallism?
(1) Circulation of gold and silver coins together
{2] Coins are unhlirnited legal tender

(3} The ratio between the gold and silver coins 1s fixed by market rate

(4} Both coins have equality between face value and intrinsic value

181 39 (P.T.0.)
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109.

110.

(18)

ﬁﬂ%ﬁﬁﬁﬁaﬁ?—mﬁ;ﬂﬁqﬁﬁmqﬁ%?

(1) B i =t F T w5 R e

(0) T arlifi w AR <

) G s 9t % few ¥ AN W T arw Z Bt e e
(@) 3 R % ofE Aed st TR HEd % e wAT R

which one of the following is not the responsibility of a Business Economis?
(1} To earn reasonable profit on capital emploved

{2) To make successiul forceasting

(3} Recruitment and selection

(4) To inform the management [ur errors

Afafin  § H-m o, SIEAE St #1 A 4

(1) Tafeifom o o sfea @ e

(2) AT AT T
(3) wdff v = F
(4) FfeEl B FEEE F A FEH

Business Economics mainly helps the firm in decision making and
(1) planning (2) communication

(3) leadership {(4) motivation

saaas Adwe w4 @ el @ H OEaa #eEa Fa 3

(1y Framm (2) FEETE (3) 4ga (4) i

40
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Diamond-Water Paradox of Utility was explained by

(I} Adam Smith {2) H. H. Gossen
i1 Bentham (4) Marshall

e & g-we R £ smn ——- % g f
(1, Uz gy (2) UHo THo MAF
3) = (4) HHie

[ndilference Curve was first used in the year

TEETA T H T FEIAH B ——— ° 7T |

(1) 1881 (2] 1906 (3) 1915 (4) 1934

The  proportionate method of elasticity of demand measurement was
propounded by

(1] Marshall [2) Flux (3) Adam Smith {4} Ricardo
am 1 A A F AEuies G # gfues —— 3 R o
(1) W (2) FeTEE (3) t=m fovy (4) fawret

The demand for a commodity is said to be elastic if the total amount spent for
the commeodity 1s

(1) less when the price is low and more when price is high

(2} same whether price 1s high or low

{3] more when the price is low and less when the price is high
4} None of the above

a1 (P.T.0.)
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ﬁﬁ!aﬁﬁn‘mﬁmmaﬁmuﬁa@mwmuﬁl
(1) i T W F ol Fwa wed s @

(2) Fa wgd @ T WA R
[3]%%@1:&3@%3?&@%5@&1334

(4) 390 § & HE A

115. The correct relationship among AM, GM and HM 1s
AM, GM 3 HM ¥ o9 88 @ 2
(1] AM=GM=HM (2) GM = AM = HM

(3) HM 2 GM 2 AM (4) AM = GM > HM

116. Which one of the following means is most affected by extreme values?
(1) Geometric mean (2) Harmonic mean

(3] Arithmetic mean (4) None of the above

i § 9 F-1 W Aiway T # "ais wnfEa w27
(1) YU ATER (2] FHE WA
{3) HHT<T HIER (4) I® F 4 HiE A8

117. Formula for coefficient of variation is

sD
(1) Z==—x100 | @) Mean 00
can SD
3) Mean x 3D 4 100
100 4
Mean x SD

(18) 42
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ﬁw’l"ﬁ%wqﬂgﬁm%

e feraer ey
(1] ——— X100 (2) ————x100
mey A faaem
. HIe X ek fereretd @) 100
100 mer % T e

Which one of the following measures of dispersion has a different unit other
than the unit of measurement of values?

(1] Range (2) Mean deviation

(3] Standard deviation {4) Variance

frerferfad 4 @ @9-91 fg9ed F HUE & 0% 37 uigehi & OE W iy 27
(1} foem (2) 91 faeem (3) S fEem (4) T

Which 1s the most prelerred tyvpe of average for index numbers?
(1] Arithmetic mean (2) Geometric mean

{(3) Harmonic mean (4} None of the above

qaF# * fou wed yafed A sE-a 27

(1) HEwR W (2) TUIER TR
(3) BUTHE WG (4) 30 H B ¢

The Dorbish-Bowley price index formula is

(1) Geometric mean of Laspeyre’s and Paasche’s index number
(2) Arithmetic mean of Laspeyre’s and Paasche’s index number
(3] Weighted mean of Laspevre’s and Paasche’s index number

{4} None of these
43 (P.T.0.)
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SRErEE K B (o o LIk

(1) SoftER i T gEFE w1 U Ar
(2) Wvfm o o gEEE w R A
(3) e 3 e gEHEs @ qid A
(4) ¥ 8 g

44 D/8(18)—183.
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11.

12.

13.

14.

wvatdat % fm FRT

(50 gfEa % 999 -9 0 A4 SloUHoMHe IFi-TH F @i e
wae el FE aw-mEe 43 8 @ fad)
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EIE Ol i A
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HoTHoHRo IH-TF & TUW YE W 4T # AT sgwwis Fuifm woma w fad 2o 2 fg g+
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stad Tl o for |

SAleUHodo TH-T1 W IFWF AN, wH-yfew awm 7 @z dew (ufr 12 @) aw e
E}-.-'FI. ] T m“—[ﬁrmaf He T ::.f'nnlr{c'ﬂ'rfc IH-T He & uEm o8 oty # A T
I uEEa § owE A uiedd wg Fiaw gmomnve w@m oA s aw mw saf e
F1 WA AT CFE

W -kl UEE U % 9R dwfers T MR M F | 9w Uy & Swfeus I % ol st
HTeURoANo IT-UF & FEl-0a Tfvh & T107 153 70 g7 & HloWWosHo IHI-UF & ¥ gE
ot fea w3 Bdw & squw us @ mEr & 2

UEE U b 37 o [ Fae us A g9 &l mE &) s 4 sl :{4 1 TR IS T
TE T K AN WH T AR I OTAR W AR

v 2 T TE 9W EE 21 STA 3 95T FE o A6 2 AqlE W 9w 1 Iew 99T FA ane
g W wmiim ufF ¥ @ Hm oma W g o w217 %) UE W W T 9F 0 FE

F FE & fod mE-gfes F gEn & 99F 9 U8 AW w@fAm g s o

Tfiar 1 TR % = @vgell U 3 oUH oSN IR -TH THAl wel /B U Fy (Hiem w0 ain 3 wend
a7 wy gwE-gfeEm dd HoWeRme IM-T A WA o T oFF #)

giEw GUTH ¥ A URd WO 994 @ Awl @W # osretd of ey

ot #i3 wvadl oftan ¥ smfas areAl & v s 2, W 9w fvafrmen gm Radfa 2 s o
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